Attachment E





BRYAN FLORES
Operations Manager – County Parks
County of Monterey
FloresB1@co.monterey.ca.us
831-796-6425

GOAT GRAZING BID 2020

JACK'S PEAK

36.5 acres @ \$2100.00 per acre	\$76,650.00
Hay and supplement feed	8,300.00
Transportaiton	3,800.00
TOTAL	\$88,750.00

^{*}This price includes the extra laborers for this project as well. It also assumes that there is a water source available for the livestock.

THANK YOU!

Terri, Egon, Zephyr Oyarzun & the GOATS ©

Tope's Tree Service Inc.

PO Box 51964 Pacific Grove, CA 93950 US (831)373-7765 info@topestreeservice.com

TOPES THREE SERVICE

Estimate

ADDRESS

Monterey County Resource Management Agency Attn: Lynette Redman 1441 Schilling Place South 2nd Floor Salinas, CA 93901 **ESTIMATE** # 11521 **DATE** 08/11/2020

ACTIVITY	QTY	RATE	AMOUNT
Road way debris removal from Kios to top parking area. Remove large large brush approximately 10 feet off road edge, each side of road			
Tree Removal Load and remove logs and brush along road way. 2 men one skid steer with grapple bucket @ \$1500 per day	3	1,500.00	4,500.00
Dumpster fee 30 yard Dumpster for debris/log hauling estimate 6 dumpster	6	500.00	3,000.00
	TOTAL		\$7,500.00

Accepted By Accepted Date

Tope's Tree Service Inc.

PO Box 51964 Pacific Grove, CA 93950 US (831)373-7765 info@topestreeservice.com

TOPES THREE SERVICE

Estimate

ADDRESS

Monterey County Resource Management Agency Attn: Lynette Redman 1441 Schilling Place South 2nd Floor Salinas, CA 93901 **ESTIMATE** # 11510 **DATE** 08/11/2020

ACTIVITY	QTY	RATE	AMOUNT
Jacks Peak. Tree removals by bathrooms Tree Removal Remove 1 large hazardous pine in front of bath room. Remove 2 large dead pines and 1 medium sized dying pine behind bath rooms. Remove pile of logs next to parking stalls across fro bathroom Clean up remove all wood and debris. 3 men chipper and truck and crane truck @ \$3200 per day estimate 2 days	2	3,200.00	6,400.00
Dumpster fee Dumpster fee for hauling logs from tree removal \$500 per dumpster estimate 2 dumpsters needed	2	500.00	1,000.00
	TOTAL		\$7.400.00

Accepted By Accepted Date

